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Ioo HIEAM™eh qelr, 2025
A

(GEOGRAPHY)
Hag : 3 9Ue 15 fme quiieh : 56

Tiientedt o fog amr= fde
. Tl FEwdH STIH WIH-9 W A A for |
[t w97 T SIfEE ¥
T T H ST Al TR -k § e ferd |
5 weAl | etafie @ue ¥, 39 9t o S Wy & fod |
g—?ﬁ%%ﬁaaﬁﬁwﬁ%ﬁwﬁz&mﬁmwﬁmﬁW%ﬁwﬁ
|
Y 1 IR o | g g o A oTend fad |
7. W AR 17 ¥ 18 WHATEH e W Gefd ¥ | Teith W9 2 3% i ¢ |
8. fava wd 9YRA % SUCTS AT TT T@-HATH! hl ST-GIEART F Y eedt e |
EGus-3H (Section-A)
1. et f48 T Sgiaencdta el & WEl fasheq 1 =@ Y STR-UfEe ¥ fafem)

(Write the correct answer to the given multiple choice questions in the answer-booklet.)

() ' HFE e A TS SR eI S HeE b1 Gyeitd Stere €1 6 e i

U'I-b()JN—\

(e}

=g it foree <) @2 [14]
(31) WA Hi. A9 (%) Esw
(7) faem-<-en-sam (7) fuftry Ter

(i) frerifera o @ wfvran o1 Geifess STt aret 29 Hiven 872 [%4]
(31) SAwmiTEE (I) IR (9) wifRem (3) ==

(i) G F ST g Tou H TRl HH w F Fed €2 [%4]
(1) g (&) foea () a=i (3) T

(iv) STHRE ST 3— [V2]
(37) wrTS (&) =l () g s@@ () 9=

(v) qiraen TRaThelT 1 STl i— [%4]
(31) dftees (%) Hf (W) =™ (%) sTgEa™

(vi) STegfTeR TER 1 TEA 3— [V4]
(31) AR (9) A Fe (W) oo (3) e

(vii) -8 T A e g A el o §7 [%4]
(31) IR TE W AT (&) sferont steeifes wgst ant
(¥) ST sTectifen Tyt AN (=) sfaort gem wst Am

(viii) Tf¥ran = ¢t el T B — [V4]
(31) JexeH (=) fém (®) TR (3) g

(ix) ‘' fava =R e’ o1 geAer wel W e 7 [%4]
(31) fSten (&) I\ (w) foeett (=) ferm

x) ‘R TR S 3 — 2]

(31) =ER (&) S CHEEISI (%) g=



wia g

(xi) T FEA T— [2]
(1) it (&) Il (|) AR (=) =

(xii) "' oA U HEe'! fRE T A STl WO WerE A 87 [%4]
(31) afferrg (&) TR (|) sTrowew (%) TSTEAH

(xiii) 9RG THR A <0 A dfq =afad o1 st Suetea giAafved w1 % g s sAtwm
A7 [Y2]
(87) S I (F) 9t S (W) wfeRm g=stt (3) -

(xiv) aferes @fe 3— [V4]
(31) IS (=) HrEeH (&) e (7) weiferm

(xv) ‘' aiErge’ fFe urg w1 sTaEs 7 [%4]
(a1) el (@) Tegfafem (W) Hris (=) @

(xvi) s et 18X’ Rt Herou foRes wqa Rt eft? [V4]
(31) SETEtele eE  (9) sfy e (@) ATl oSS (§) el B
(xvii) T TE B TewTqul TS I T e hiH HIST FHIT 77 [V4]
(31) T59 HEH A (&) g HRTEE Hied

() dm wEF e (3) TS g wie

(xviii) THIE T % <oTd o HH HH o0 Fore STl wx ot fafor femen w2 [Y4]
(31) o= (@) mrTS (¥) wisen (3) SEmEIeTe Tew

e T &t gfd SIS (Fill in the blanks) :

(i) SHiIfRHRE Fha TG B o, ST § I WSO o o9 gog o Bt
k- [14]
Inthe ............... stage of Demographic Transition Theory there is high fertility and
high mortality rate.

(i) THaE fowmE wt TaErRen 1 AR . EREE DI [V2]
The concept of Human Development was propounded by ............. .

(i) S BT B e, &7 i fagioa 21 [%4]
Grapes cultivation is a specialty of ................ region.

(iv) THIT % ST 9 hl TR AT B oo FeEd F | [%4]
Travelling for the purpose of enjoyment is called ................

v) Wﬁ:ﬁa‘raaﬁaﬁﬁ@w@rwwmﬁaﬁﬁ@mﬁ .............. FEd T[]
The service of carrying people and goods from one place to another is called ......... .

L7 T I ST AR I W9 GR Fed ¢ | [%4]
............. is called the gateway of international trade.

(vii) 2011 St SO 3 TR oo I H Fellfeeh SEE e oen TF 81 [44]
According to the 2011 census, .............. is the state with highest population density in
India.

(vill) TS & @ TR % 3T T | [%4]
Raniganj and Jharia are example of ............. town.

1 I T TR G iAo Stel e faehr arer B [%4]
................ is a watershed development project sponsored by the Central Government.

(x) @1 FAE T FEAFRH ..o Toestg ArS B yrRe TR e [V4]

“Drought Prone Area Programme™ was started in the ............. Five Year plan.
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3.

aﬁm A9 (Very Short Answer Type Questions) —

() g= gfiw fFY wed §7 [1]
Who are called main worker?

(i) =T < STRERETT i &rdl o Ged S | [2x1/,=1]
Suggest any two unconventional energy sources.

(iii) ST OISR Hrel o A9 foafen e R § wraen oo g | [2x1/,=1]
Write down names of two geological periods in which coal formation place in India.

(iv) ‘‘doet! et % Qe 9 fafey [2x1/,=1]
Write two local names of “Hamleted” settlement.

(v) < WeR wEel & 9 fafay| [2x1/,=1]
Write the names of two fibre crops.

(vi) O et ot Rt faememn o % g W eenfia @2 [1]
Which school of human geography is based on “Marxian Theory™?

(vii) SFEE % faaor @t gurfad e o @ «tfaew wren & T fafag | [2x1/,=1]
Write the names of two physical factors affecting the distribution of population.

(viii) STTefeR oS ford shed €7 [1]
What is periodic market?

(ix) ¥or9 9R 8 o8 AHe foera ot o gemfi &t g2 [1]

In which year Human Development Report was published for the first time?
Que-o (Section-B)

T THER U (Short Answer Type Questions) —

4.

10.

11.

TSR e o 9 3u&s o 4 fafem [3x1/,=11/,]
Write names of three sub fields of social geography.
e fasm & el 1 surl & W fafae) [3x1/,=11/,]

Write the names of any three approaches of human development.

2011 St SFITUHT o STTER WRA i Fosiiel (Frdviier) Saen i foha doil | e 3?7 forgl
< o A fafaw| [2x3/,=11/,]
According to 2011 census, India’s working population is divided into how many categories?
Write names of any two.

el & o o & fern < geme dfe [2%3/,=11/,]
Give two suggestions for the development hilly areas.
fgusiiar =amIR o Tgueia =R H 7=k TE i | [11/,]

Explain the difference between bilateral trade and multi-lateral trade.

e o T4a gl & ufiee & fere o uftas & foa arem o1 =om O o 32
[2%3/,=11/,]

Which mode of transport will you choose for transporting liquid and gascous substances

and why?

Ra B Ugiferam gerel o STema H gig o S SR WY Site | [2x3/,=11/,]
Explain two reasons for the increase in import of petroleum products in India.
& IO AR % T 3T SrE | [2x3/,=11/,]

Suggest two measures to prevent water pollution.



wia g
Eue-¥ (Section-C)

o SHa v (Long Answer Type Questions) —

12.

13.

14.

foega =nforsar o i i dF fosivarstt =1 3Soora wifsT | [3x1=3]
Mention three characteristics of Extensive Commercial Grain Forming.
AgAT/OR
TETTH ISR % A & T RIS
Explain three areas of nomadic animal herding.
TATHT 718X & &S 18T ki ol STafeafq oy & SMeR W Fiey | [2x11/,=3]
Compare the Suez Canal and Panama Canal on the basis of location and advantages.
AgAT/OR
ST STeTHr W 31T A wHed § 2 fave & fodt w ermafies sermnt @ 9ol wifsm)

What do you understand by inland waterways? Describe any one inland waterway of the
world.

=rgeT foet # o reitentor st Ao & T fore 12 1 Ui =Rt gemsd | [3x1=3]

Suggest three measures taken to prevent land degradation in Jhabua district.
AYAT/OR
Y UGV o TTT TR Al Rt THEES |

Explain the factors responsible for air pollution.
WUe-7 (Section-D)

THar-erTeTeR W9 (Essay Type Questions) —

15.

16.

17.

18.

YR 9 T W EW At fafmior sem @i foeet = fomonst o fowersor ifsg | [4x1=4]
Analyse any four characteristics of modern large-scale manufacturing industries.

AAT/OR
SR & AR W ST % e 7R T2 fawar & foe=m wifsg |

How many types of industries are there on the basis of size? Discuss in detail.
ARG Y it fh=l =R aenstt 1 favervor wifs | [4x1=4]
Describe any four problems of Indian agriculture.
AYAT/OR
AR FHi0 & fohl =R Uil o1 o hifei |

Describe any four types of Indian agriculture.
EUsS-¥ (Section-E)

feu u fove & YEr-amfn # fefafed gai o= & sifea sifse— [4x15=2]
(=) g=rg () fererit (W) e (7) faet

Mark the following airport on the given outline map of the world—

(A) Mumbai (B) Chicago (C) London (D) Sydney

feu U 9yRa & TE-qetes | fEfefaa s<omel @ A wifse— [4x14=2]
(31) ToemaragTd (9) wwiean (9) whicThra (%) IR

Mark the following sea port on the given outline map of India—

(A) Vishakhapatnam (B) Kandla (C) Kolkata (D) Paradip
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YITA—haTT 12 (WTT-1)
A Y o Jet Ragra
1. AHE YTicet—Uehid Te fowa-g

Ure-ar

UHE A &l Uehfa—ifaw et «iifask qaferor 1 steqa™ il ¥, Sefsh AWa e
iR/ uTeRfaeh TETeRTT Ul WIS SRIG, 3 S R, ANEE HeAeT o T foa qur R
wfed 814 o SR e fave & fafq= 9 | grsen AR et fafa=Tarsti &1 stesrem wea 2 '
HifeR TATeR0T o ST ¥, A TIeARia, T, Siere, S, WTehfaeh ameata siR fafae witremg sufy |

A T UTh{dehTuT 31X Yehfd T AEThIUL—HT ST UIeifiTeht S Femd ¥ o199 Hifas
TRl & 3T Tohen R ¥ 1 Wenfient fRe v § wiefan foer % W D goe Skt ¥
Hrenfirert i forrfaa et o foTe wepfa &1 91 Heworgol & SR Wienfient Wgs W waieRer st sifs9il
Y HA T | AR AR W A=A foren it ST sToReneT | AME so STt geifam gom
o7 | I TR % ST o STIER ST ST et T, FRiifer Treifiment o1 T o = o1 &fiX
TS % AT o ot oTereen ot STfsH ot |

STEH T T 3R Wehfd ohi Warel Wikl o o 59 WohR okl 1= fohenm Rt qarfeoia
FreeeEmR (SR fHe=eEmR) el T |

URTST 7Tl | Yepfd 3T AT & Tia-a—yRiteh sToreen # yahfa oiR 7= &% IReIeh
Tl § AT Wpfa § IfeR gIfaa o | 9% UH(T ok STIUR werm of | TH wHSh o fore itfase
TR ' HIAT-WhTa ' oF THM o1 | 999 & WY T H TH{a T WIhiae il sl Tgar I 9
e | armfsr SR Aiepfan faema % woeey U 7 9% qehi i o R e | 9w
e ot feafa & foag o s @ |

TIAE—TFE A FHEA o GrTeAret] sl SR W S ot | 79 foranedi st =19 o6
TF M W 3@ ST TRl ¢ | 3o T R @R fagmeed, favne TR fawr, =wems, '
aTfE vedt iR HeT § 2@ S WoRd | 9O RN § o<Te, FRANRE °i a9 SRy § SUue
ot 3 |l Hre Rt € | stfies Tt 3 58 geeErs !’ A e | A -adreRen sty
50 TOaRE % STHER Yhfd SO WSH Hdl § SR I TR o1 33T ¢ | 39 TR HR-4R
(G HTeRRd BT S € iR WE B9 39 W S IF ©F W ¢

TafyeEae—fifry 2o 3 A yefa & wrery § A 9nl o Wi & | 98 gt
Fryemas SiR Gvaems & we o1 3% 39 e fAveEEs stuen TR 9 weT fAveme’ wet | 39
TR o STTER A qatoreie e 5t feafa Tt @ i 7 & dyeae wi feufa wdt 8
TR o1d I goT fop wepfae el o1 wie hd g€ TS oTT WA § Wepfa R fasa ura o
Hhel T |

IS YTl o & 3R IU-FF—A TIe] Hal Siter o |+ qeell a1 STl foeeh ST
3 Hfed 30§, & T T i SAAT B A TAE BN T | TH YRR HFS IS h TR
sTeafieh STRRITTA B | We Tl il THeH 9 Sl AT S % fT HFS el |resR
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